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@ sin90° = cos 90° = tan 90°
@ sin30° = cos 60° = tan 45°
® sin90° = cos 0° = tan 90°

@Sin 90° 4 cos 90° 4 tan 45° = 2
®

®)cos 0° + tan 0° = sin 90°

~&B ~

@ sin90° = 1,c0s90° = 0,tan 90° = & 5= FUrt.

1 1
@ sin30° = §,COS60° = 5,tan45° = 1 °]B & sin30° =

cos 60° # tan 45°

@ sin90° = 1,cos 0° = 1, tan 90° = A 4 Qich

@ sin90° = 1,c0890° = 0, tan45° =1 9|B2 1+ 0+ 1 =2
® cos0° =1,tan0° = 0,sin90° = 1 9| E2 14+ 0= 1
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o, /BOC 9] 37]=2

@ 90° @ 100° ® 140°

@)110° ® 120°

ABYDo| RS 10H

(EDB = 95° o|B2 /BDC = 150° — 95° = 55°
(BOC = /BDC 2] FAlZto|Bn g2
- /BOC = 55°x 2 = 110°
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34+ x
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=75 34+x=375 .. x=35(H)




9. The EsBEmelA Bgol 5.25 4 A ul, B o] S Flela

A (@) 3456 7] aA
w=5(8) |[2]A[8|B|3] 20

A =71 20 0|22
2+A+8+B+3=20
A+B=T7---0Q
Po] 525 A o]B=
3X2+4XA+5X8+6XB+T7%x3

20
6 +4A + 40 + 6B + 21

20

2A+3B=19---©
9, 0= 9™sld EHA=2, B=5
. B=5

=5.25

=5.25, 4A + 6B = 38
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24+5+x+4+1=y
x—y=-12---Q
spayo] H4-0] W] 73,5 Ho|n 2
5O X24+65XxX5+ToXxx+8x4+95%1

y
110 + 325 + 75x + 340 + 95
5 =

870 + 75x = 73.5y---©
Q, O A"t EH x =8, y=20
SLy—2x=20-2x8=14

= 73.5,

73.5
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{(4-7)2Xx3+(6-T)2x3+(8-7)2x2+ (10-7)2x2}
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1

(274+3+2+18) =5
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(3-22+(V3) =
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0° <A <45°d of, \/(sinA —cosA)*+ \/(COSA —sinA)® &

a7

@ sinA @ 2sinA
@—QSinA+2cosA @ —cosA
® 2cosA

B

0°<A<45° ¥ 0], sinA < cosA
. sinA —cosA <0, cosA—sinA >0
\/(sinA —cosA)® + \/(COSA —sinA)?
= —(sinA — cosA) + (cosA —sinA)
= —sinA + cosA + cosA —sinA = —2sinA + 2cos A
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AC=+V152-122= V81 =9

12 9 3

i A = oo = Ty i B = — = -

sin 5 5 sin T E
. sinAXSinB:éx§:1_2
5 5 25
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(1) (dol) :§><4><14><sin30°
1 1
=-—X4Xx14dx=-=14
2 2

(2) (o]) = L ax10x sin(180° — 120°)

:§><2><10><sin60°=5‘/§
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D 51v2 @ 51v3 @ 532 @53«/5 ® 536

B ,

ODABCD = AABC+AADC =

%xleQ\Ex

1
sin (180° = 150°)  + 5 x
16 x 12 X sin 60°

1 1 1
— 2 x10%2 2.z

5 X 0 x \/§x2+2x
16><12><\/7§

=5vV3+48v3=53V3
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4x12=3x (3+AB)

48 =9+ 3AB,3AB =39 .. AB =13
4x12=6x (6+CD)

48 = 36 + 6CD,12 = 6CD .. CD = 2
~AB+CD=13+2=15
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= 5 A
AABC &= oJH A2+ 12 A=t ‘\13
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AAHC oA AH = V132 -52 = 12
AABH ©f|A AB = V122 + 292 = 1985
AABC 9] A ¥ +/085,13,34 = 7} 71 ¥ o] 34 o|t},
34% > (1/985)2 + 132
1156 > 985 + 169 o] 2.2 714 71 ¥ BC 2 = 2442ty
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